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T Question Description In a load line mark of a vessel, what does the letter ‘T" mean
A Total
B Temporary
c Tropical
D Technical
E None of the above
Correct Answer C

Marks 1



Question Description

A

Correct Answer

Marks

Which of the following statements is true concerning life jackets?

A Buoyant vest may be substituted for life jackets

Life jackets are designed to turn an unconscious person’s face clear of the water
Lifejackets must always be worn using the right hand to ensure they fit correctly
Lightly stained or faded life jackets will sink in the water and should not be used

None of the above



Question Description Identify this Shackle used in the Anchor chain

A Common link

B Kenter Shackle
c Kentuky Shackle
D Kenana Shackle
E None of the above
Correct Answer B

Marks 1



4 Question Description

Correct Answer

Marks

This bouy is a

Port hand lateral mark
Stbd hand lateral mark
Special Mark

Isolated danger buoy

None of the above

A
1



Question Description You are at the Marine slipway office, and a barge is coming alongside; the Master says the forward draft is 2.0mtrs, and
the Aft draft is 2.5mtrs; which of the below is correct?

A The barge is 0.5mtrs trim by Head

B The barge is on an even keel

c The list of the barge is 0.5 deg to Port side
D The barge is 0.5mtrs trim by Stern

E None of the above

Correct Answer D

Marks 1



Question Description You see there is a local barge that is adrift and heading slowly toward the Marine slipway jetty. What will you do to
reduce the impact?

A order my staff to evacuate the jetty

B order my staff to take a small boat, board the barge, and try to stop it
c there is nothing we can do; we must just watch it

D order my team to rig additional fenders

E None of the above

Correct Answer D

Marks 1

Question Description Two fire hoses can be joined together by a fitting known as
A Coupling.

B Nozzle

c Adapter

D Hydrant

E None of the above

Correct Answer A

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

Correct Answer

Marks

Freeboard of a ship is

The distance in meters from the topmost point of the Mast to the keel

The distance in meters from the Keel to the waterline

The distance in meters from the waterline to the uppermost continuous deck

The distance from the Pilmsol mark to the waterline

None of the above

C
1

You are at the Marine slipway office and a small vessel is heading to the marine slipway, the Master says the forward
draft is 1.0mtrs, and the Aft draft is 1.0mtrs, which of the below is correct

The Vessel has a Stbd List

The vessel is on an even keel

The vessel has a port list

The Vessel is on the perfect keel

None of the above



10 Question Description When the Captain of Ports tells you that the Barge will double bank, what is he referring to

A The barge will be on both the banks of the Mandovi River

B The barge will be at the bank of the ferry point

c The barge will come alongside another barge

D The barge will come alongside directly at the marine slipway jetty
E None of the above

Correct Answer C

Marks 1



1 Question Description For the best extinguishing effect, the discharge from a dry chemical-type fire extinguisher should be directed at the

A Base of the fire

B top and side of the fire

c middle of the fire

D highest flames in the fire
E None of the above

Correct Answer A

Marks 1



12 Question Description At what security level in the port will there be suspension of access to all, or part, of the port facility

A Security Level 1
B Security Level 2
c Security Level 3
D Security Level 4
E None of the above
Correct Answer C
Marks 1

13 Question Description Who carries out PFSA
A SSO
B CSO
c RSO
D OoOoOwW
E None of the above
Correct Answer C

Marks 1



14

15

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

The Cumbharjua Canal is well known as a habitat of the
The Indian rat snake

The Indian mugger crocodile

The Bombay duck

The Goa Gaurs, also called the Indian Bison

None of the above

PFSO is abbreviated for

Port Facility Safety Officer
Port Force Security Officer
Port Facade Securing Officer
Port Facility Security Officer

None of the above



16 Question Description During the Marine slipway inspection, you see, one of your team members slipped and fell in the water; what will you do

A Immediately inform the COP to replace this person
B Inform the crew on the jetty to start the tug boat and go and rescue him
c Will throw him a life bouy so he can hold on to it
D It's my responsibility, so | will wear a life jacket, and jump and save him
E None of the above
Correct Answer C
Marks 1
17" Question Description Which among the following controls the flow rate?
A Valve
B Pump
c Head
D Tank pipe.
E None of the above
Correct Answer A

Marks 1



18

19

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

When minimum restrictions and a straight line of flow of water are required, which valve is used?
Butterfly valve

Plug Valve

Lift check valve

Gate valve

None of the above

Which statement is incorrect about water extinguishers?

Extinguishes the fire by taking heat element of the fire triangle

Should be used for flammable liquids and gas fires

The nozzle must be aimed towards the base of the fire

Used for extinguishing fire involving products such as wood, paper, etc

None of the above



20 Question Description The fluid coming into the centrifugal pump is accelerated by

A Throttle
B Impeller
c Nozzle
D Governor
E None of the above
Correct Answer B
Marks 1
21 Question Description Draft of a vessel is
A The distance in meters from the topmost point of the Mast to the keel
B The distance in meters from the Keel to the waterline
c The distance in meters from the waterline to the uppermost continuous deck
D The distance from the Plimsoll mark to the waterline
E None of the above
Correct Answer B

Marks 1



22 Question Description When a port facility is following the ISPS code, they are issued with

A International Ship Security certificate

B International port Security certificate

c Statement of Compliance of a port facility

D Statement of Security compatibility of a port
E None of the above

Correct Answer B

Marks 1



23 Question Description The COP tug boat, at the Marine slipway, is going for a towing operation, and the length of the tow is more than 200
meters, what will be the day signal

A One black ball

B One black cylinder
c One black diamond
D One black square
E None of the above
Correct Answer C

Marks 1



24 Question Description Where is the plimsoll mark found on a vessel

A Port and stbd side in the Fore part of the vessel
B Port and stbd side of the Funnel of the vessel
c Port and stbd side Midship area of the vessel
D Port and stbd side Aft section of the vessel
E None of the above
Correct Answer C
Marks 1
25 Question Description The COP tells you that the ETA of his boat to the marine slipway is at 0800hrs; what does ETA mean
A Exact time of arrival
B Estimate time of arrival
c Extreme time allocated
D Estimated time assigned
E None of the above
Correct Answer B

Marks 1



26 Question Description How many cables are there in One Nautical mile?

A One ..
B Five.
c Ten.
D Hundred.
E None of the above
Correct Answer C
Marks 1
27 Question Description The flow rate control in a Globe valve is determined by
A pressure difference between the suction and discharge
B gravity
c lift of the valve plug
D size of the opening
E None of the above
Correct Answer C

Marks 1



28 Question Description As a marine in charge, you see a document that mentions notice of readiness tendered; this refers to

A the vessel is ready in all respects to salil
B the vessel is ready in all respects to check engines
c the vessel is ready in all respects for the operation intended
D the vessel is ready in all respects to meet the fire tender
E None of the above
Correct Answer C
Marks 1
29 Question Description The Cumbarjua Canal connects
A The Mandovi River and Zuari River
B The Mandovi River to Sarmanas
c The Zuari river to Savordem
D The Mandovi River to Sirsai
E None of the above
Correct Answer A

Marks 1



30 Question Description One of the COP vessels is coming alongside at the marine slipway jetty and the Master passes the eye of the mooring
rope. Where will you put this eye

A on the anchor

B on a bollard or bitt

c on a fender

D will keep it on the jetty
E None of the above
Correct Answer B

Marks 1



31 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

Americans, | am aware, believe that they will produce Literature and Art, as they produce coal and steel and oil, by the judicious
application of intelligence and capital; but here they do themselves injustice. The qualities that are making them masters of the
world, unfit them for slighter and less serious pursuits. The future is for them the kingdom of elevators, of telephones, of motor-
cars, of flying machines. Let them not idly hark back, misled by the effete traditions, to the old European dream of the kingdom of
heaven ...let them say, “for Europe, Letters and Art”, let America rule the world by syndicates and trusts!” For such is her true
destiny, and that she conceives it to be such, is evidenced by the determination with which she has suppressed all irrelevant
activities. Every kind of disinterested intellectual operation she has severely repudiated.

The essence of American character, as suggested in the passage, lies in the phrase
disinterested intellectual operation

production of coal and steel and oil

desire for mastery over the world

sane use of intelligence and wealth

None of the above



32 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

Americans, | am aware, believe that they will produce Literature and Art, as they produce coal and steel and oil, by the judicious
application of intelligence and capital; but here they do themselves injustice. The qualities that are making them masters of the
world, unfit them for slighter and less serious pursuits. The future is for them the kingdom of elevators, of telephones, of motor-
cars, of flying machines. Let them not idly hark back, misled by the effete traditions, to the old European dream of the kingdom of
heaven ...let them say, “for Europe, Letters and Art”, let America rule the world by syndicates and trusts!” For such is her true
destiny, and that she conceives it to be such, is evidenced by the determination with which she has suppressed all irrelevant
activities. Every kind of disinterested intellectual operation she has severely repudiated.

The statement “For such is her destiny”, indicates that America is inclined to strive for
the kingdom of elevators

political power over the world

slighter and less serious pursuits

the kingdom of heaven

None of the above



33 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

Americans, | am aware, believe that they will produce Literature and Art, as they produce coal and steel and oil, by the judicious
application of intelligence and capital; but here they do themselves injustice. The qualities that are making them masters of the
world, unfit them for slighter and less serious pursuits. The future is for them the kingdom of elevators, of telephones, of motor-
cars, of flying machines. Let them not idly hark back, misled by the effete traditions, to the old European dream of the kingdom of
heaven ...let them say, “for Europe, Letters and Art”, let America rule the world by syndicates and trusts!” For such is her true
destiny, and that she conceives it to be such, is evidenced by the determination with which she has suppressed all irrelevant
activities. Every kind of disinterested intellectual operation she has severely repudiated.

The following is not a synonym for “effete”
affected

effective

enfeebled

effeminate

None of the above



34 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

Americans, | am aware, believe that they will produce Literature and Art, as they produce coal and steel and oil, by the judicious
application of intelligence and capital; but here they do themselves injustice. The qualities that are making them masters of the
world, unfit them for slighter and less serious pursuits. The future is for them the kingdom of elevators, of telephones, of motor-
cars, of flying machines. Let them not idly hark back, misled by the effete traditions, to the old European dream of the kingdom of
heaven ...let them say, “for Europe, Letters and Art”, let America rule the world by syndicates and trusts!” For such is her true
destiny, and that she conceives it to be such, is evidenced by the determination with which she has suppressed all irrelevant
activities. Every kind of disinterested intellectual operation she has severely repudiated.

The statement about “producing Literature and Art as coal, steel and oil” implies

a materialistic approach to creative work

a realistic view of literature and art

a prudent view of cultural activity

a keen interest in refinement of spirit

None of the above



35 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

Americans, | am aware, believe that they will produce Literature and Art, as they produce coal and steel and oil, by the judicious
application of intelligence and capital; but here they do themselves injustice. The qualities that are making them masters of the
world, unfit them for slighter and less serious pursuits. The future is for them the kingdom of elevators, of telephones, of motor-
cars, of flying machines. Let them not idly hark back, misled by the effete traditions, to the old European dream of the kingdom of
heaven ...let them say, “for Europe, Letters and Art”, let America rule the world by syndicates and trusts!” For such is her true
destiny, and that she conceives it to be such, is evidenced by the determination with which she has suppressed all irrelevant
activities. Every kind of disinterested intellectual operation she has severely repudiated.

Select the option closest in meaning to the phrase “severely repudiated” in the passage

refused to fulfil

refused to discharge

rejected outright

refused to accept

None of the above

C
1



36 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

Ordinarily, if a man goes out in the street and shoots down another man, he is apt to feel sorry for it, thinking that he has done
wrong. But if the same man, as a soldier in his regiment, kills not one but plenty, he is certain to feel glad and think that he has done
his duty remarkably well. Thus, it is not the thing that defines duty. To give an objective definition of duty is thus entirely
impossible. Yet there is duty from the subjective side. Any action that makes us go God-ward is a good action, and is our duty; any

action that makes us go downwards is evil and is not our duty

“Thus, it is not the thing done that defines duty”.

From the options given below, identify the one that implies the complete sense of the above statement.
There is duty from the subjective side

It is an objective assumption

A Godly action is our duty

It is the context of the action that defines it

None of the above



37 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

Ordinarily, if a man goes out in the street and shoots down another man, he is apt to feel sorry for it, thinking that he has done
wrong. But if the same man, as a soldier in his regiment, kills not one but plenty, he is certain to feel glad and think that he has done
his duty remarkably well. Thus, it is not the thing that defines duty. To give an objective definition of duty is thus entirely
impossible. Yet there is duty from the subjective side. Any action that makes us go God-ward is a good action, and is our duty; any

action that makes us go downwards is evil and is not our duty

“any action that makes us go downwards is evil and is not our duty”.
Read the above statement carefully and identify the option that is the closest substitute for the meaning of “go downwards” as it is

used in the context of the passage.

feel degraded

go away from God

leads to shame

fall on our knees

None of the above



38 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

Ordinarily, if a man goes out in the street and shoots down another man, he is apt to feel sorry for it, thinking that he has done
wrong. But if the same man, as a soldier in his regiment, kills not one but plenty, he is certain to feel glad and think that he has done
his duty remarkably well. Thus, it is not the thing that defines duty. To give an objective definition of duty is thus entirely
impossible. Yet there is duty from the subjective side. Any action that makes us go God-ward is a good action, and is our duty; any

action that makes us go downwards is evil and is not our duty

In the light of the passage, say whether the following statements are true or false.
i. Itis entirely impossible to define duty objectively;

ii. Itis somewhat possible to gauge it subjectively
both (i) and (ii) are true
both (i) and (ii) are false
(1) is false; but (ii) is true.
(1) is true; but (i) is false
None of the above

A
1



39 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

Ordinarily, if a man goes out in the street and shoots down another man, he is apt to feel sorry for it, thinking that he has done
wrong. But if the same man, as a soldier in his regiment, kills not one but plenty, he is certain to feel glad and think that he has done
his duty remarkably well. Thus, it is not the thing that defines duty. To give an objective definition of duty is thus entirely
impossible. Yet there is duty from the subjective side. Any action that makes us go God-ward is a good action, and is our duty; any
action that makes us go downwards is evil and is not our duty

Choose the option that is synonymous to “regiment” in the above passage

uniform

armed forces

army unit

SE€nses

None of the above



40 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

Ordinarily, if a man goes out in the street and shoots down another man, he is apt to feel sorry for it, thinking that he has done
wrong. But if the same man, as a soldier in his regiment, kills not one but plenty, he is certain to feel glad and think that he has done
his duty remarkably well. Thus, it is not the thing that defines duty. To give an objective definition of duty is thus entirely
impossible. Yet there is duty from the subjective side. Any action that makes us go God-ward is a good action, and is our duty; any

action that makes us go downwards is evil and is not our duty

Select from the given options, the antonym of the word “remarkably”
extraordinarily

uncommonly

run-of-the-mill

non-strikingly

None of the above



41

42

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which city is known as the "Tea City of India"?
Kolkata

Guwahati

Darjeeling

Dibrugarh

None of the above

Who won the gold medal in the men's T63 high jump event at the Asian Para Games 20237
Pranav Soorma

Shailesh Kumar

Mariyappan Thangavelu

Padhiyar Govindbhai

None of the above



43 Question Description Which city in India is aiming to become the first wetland city?

A Udaipur
B Jaipur
c Jodhpur
D Kota
E None of the above
Correct Answer A
Marks 1
44 Question Description How many member countries are there in NATO in 20237
A 31
B 30
c 29
D 35
E None of the above
Correct Answer A

Marks 1



45 Question Description

46

A

Correct Answer

Marks

Question Description

Correct Answer

Marks

What is the name of India's first semi-high-speed regional rail service?
Namo Bharat

Rapid B

Vande Bharat

Speed X

None of the above

A
1

Where was the first edition of the Indian Military Heritage Festival inaugurated?
Mumbai

Bangalore

Chennai

New Delhi

None of the above



47 Question Description

48

A

Correct Answer

Marks

Question Description

Correct Answer

Marks

What is the name of the recent potential cyclonic storm formed in the Arabian Sea?
Cyclone Nisarga

Cyclone Tej

Cyclone Biparjoy

Cyclone Asani

None of the above

Which country won the gold medal in the men's hockey event at the 2023 Asian Games?

Japan
South Korea
Pakistan
India

None of the above



49 Question Description Which Indian aerospace organization unveiled its Vikram-1 orbital rocket in October 20237?

A Skyroot Aerospace
B Indian Space Research Organisation
c Bharat Heavy Electricals Limited
D Bharat Dynamics Limited
E None of the above
Correct Answer A
Marks 1
50 Question Description Which case has the Supreme Court referred to a five-judge Constitution Bench recently?
A Aadhaar case
B Electoral bond case
c Pegasus case
D Farm laws case
E None of the above
Correct Answer B

Marks 1



51" Question Description Owner of a branded shoe showroom earns 25% profit after giving 25% discount. Now, if he wants to give 10% discount, what

would be his profit percentage?

A 30%

B 40%

(@ 50%

D 60%

E None of the above
Correct Answer C

Marks 1



52 Question Description Here are some words translated from an artificial language.
plekapaki means fruitcake
pakishillen means cakewalk
treftalan means buttercup
Which word could mean "cupcake"?

A shillenalan

B treftpleka

c pakitreft

D alanpaki

E None of the above
Correct Answer D

Marks 1



53 Question Description Analyse the problem discussed in the statement and decide which course of action should be followed to solve the problem.

Statement: A severe drought is reported in many states of the country.

Courses of action;

I. The government should immediately provide financial assistance to the people of the affected states.
II. The government should immediately send food, water, and fodder to the affected states to save people and livestock.

A Only I follows

B Only II follows

c Either I or II follows

D Neither I nor IT follows
E None of the above
Correct Answer B

Marks 1



54 Question Description What are the missing numbers in this series, 15, 20, 24, 15,28,32 15, , ,15?

A 37, 41

B 36, 40

c 38,42

D 40, 44

E None of the above
Correct Answer B

Marks 1



55 Question Description IMT’s hostel mess requires 60 kgs of rice every day except every 7" day on which only 50 kgs of rice is required. If this continues,

how many kgs of rice is required for 150 days starting from the first day?

A 9000 kgs

B 8790 kgs

(03 8970 kgs

D 9890 kgs

E None of the above
Correct Answer B

Marks 1



56 Question Description If SIZZLING is coded as 5 and ABSENTEE as 6, then what is the code for LETTERS?

A 5
B 6
(o 7
D 8
E None of the above
Correct Answer A

Marks 1



57 Question Description At, what percentage above the cost price must an article be marked so as to gain 8% after allowing a customer a
discount of 10%.

A 10.8 %

B 18%

(o 28%

D 20%

E None of the above
Correct Answer D

Marks 1



58 Question Description Understand the pattern in the given figure and find the missing number

4 19
6 | 207 6
5139|5110
3 7
A 45
B 32
c 54
D 28
E None of the above
Correct Answer A

Marks 1



59 Question Description Identify the term ‘X’ in the following series:

4,12,42,168, X.
A 672
B 756
(o 588
D 772
E None of the above
Correct Answer B

Marks 1



60 Question Description Raju’s age is three years more than four times Balu’s age. After five years, Raju’s age will be one year more than thrice Balu’s age.

What is Raju’s present age in years?

A 8

B 13

Cc 32

D 35

E None of the above
Correct Answer D

Marks 1



61 Question Description Each of the following questions contains a small paragraph followed by a question on it. Read each paragraph carefully
and answer the question given below it.

The attainment of individual and organisational goals is mutually interdependent and linked by a common
denominator - employee work motivation. Organisational members are motivated to satisfy their personal goals,
and they contribute their efforts to the attainment of organisational objectives as means of achieving these
personal goals.

The passage best supports the statement that motivation -

encourages an individual to give priority to personal goals over organisational goals.
is crucial for the survival of an individual and organisation.
is the product of an individual's physical and mental energy.

is the external force which induces an individual to contribute his efforts.

m O O W >

None of the above

Correct Answer A

Marks 1



62

63

Question Description

D
E
Correct Answer

Marks

Question Description

Correct Answer

Marks

Find the word that names a necessary part of the underlined word

autograph

athlete
actor

signature

pen

None of the above

C
1

Sandeep’s house is to the east of Sanjay’s house. Sainath’s house is to the south of Sanjay’s house. In which direction is Sandeep’s
house with respect to Sainath’s house?

north

north-east
north west
South-east

None of the above



64 Question Description Assuming the given statements to be true, decide which of the conclusion is true, disregarding the commonly known facts
Statements
I. All locks are keys
Il. All chains are locks

Conclusions
A all keys are locks
B all chains are keys
Cc all locks are chains
D some chains are not keys
E None of the above
Correct Answer B

Marks 1



65 Question Description Pointing to a man in the photograph a woman said, "He is the son of my paternal grandmother's only son. How is the man related to

the woman?
A Brother-in-law
B Son
c Father
D Brother
E None of the above
Correct Answer D

Marks 1



66 Question Description Read both the statements regarding cause and effect relationship and mark your answer

Statement I: Most of the steel producing companies in the country have made considerable profit during the last financial year

Statement II: Many Asian countries have been importing huge quantities of steel from India

A statement I is the cause and statement II is its effect

B statement II is the cause and statement I is its effect

c both the statements [ and II are independent causes

D both the statements I and II are effects of some common cause
E None of the above

Correct Answer B

Marks 1



67 Question Description Select the pair of words that are related to each other in the same way as the two capitalized words

PAPER:WOOD
A ink: colour
B brush: paint
c brick: clay
D cloth: dresses
E None of the above
Correct Answer C

Marks 1



68 Question Description Find the missing alphabet in the following series?
O, T, T,F,F,S,S,E, ?

A E

B N

c G

D H

E None of the above
Correct Answer C

Marks 1

69 Question Description Mukesh walks 6 km toward the South and then walks 3 km to his left. Finally, he turns to his right and walks 6 km. In which

direction is he from the starting point?

A South

B South-West

c South-East

D West

E None of the above
Correct Answer C

Marks 1



70" Question Description Arrange the following words in a meaningful sequence.

1. Infection

2. Consultation
3. Doctor

4. Treatment

5. Recovery
A 1,3,4,5,2
B 1,3,2,4,5
c 1,2,3,4,5
D 2,3,5,1,4
E None of the above
Correct Answer B

Marks 1



71

72

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

If BEAUTY is coded as DHEZZF, how will FLOWER be written in that code?

HSOBYK

HBOSKY

SBKYOH

HOSBKY

None of the above

Paw: Cat :: Hoof: ?

Dog

Horse

Elephant

Lamb

None of the above



73 Question Description In an interview panel, seven members are sitting in a row. A is in between D & F, C is in between F & G. G is between C & E and

D is in between B & A. Find the person sitting in the middle.

A D
B F
Cc B
D A
E None of the above
Correct Answer B

Marks 1



74 Question Description

Correct Answer

Marks

It is called Restitution when you compensate someone for damaging his or her property in some way. Which of the following

situations is the best example of Restitution?

Tom borrows his friend's car and returns the car with an empty petrol tank. He apologizes and tells his friend that he will fill the

tank tomorrow.

Tom borrows his friend's camera. Tom fails to zipper the case, and the camera falls on the ground, and the lens shatters. When Tom
returns the camera, he tells his friend that he will pay for the damage.

Peter asks Tom to stay in his apartment when he is out of the town. One day Tom arrives to stay and finds that pipe has burst and

the apartment is filled with water. He calls the plumber to repair the pipe and pays for the repair.

A pothole in the parking of Peter's company caused his flat tyre. He informs his boss and expects that the company should pay for

the repair.

None of the above



75 Question Description An obese woman who does not want to disclose her weight directly, says ‘I weigh 50 kgs plus one third of my weight. What is her

weight?
A 65 Kgs
B 70 kgs
(@ 75 kgs
D 72 kgs
E None of the above
Correct Answer C

Marks 1



